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BX| 1 2:08 | RUN | #5 47 LR 9 K | #4 &R 710
BX| 1 |10:29 | RUN |#30 JIlL 2 | K| # R G 1410
BX| 2 |12:00 | FG |#4 &R 41 | - —__ _ 171 %
BX| 3 6:00 | RUN |#19 ;M 1 [k |# B8R G 24| 0
BX | 3 | 10:28 |PASS|#10 # — #82 INE 42 | K | #4 ®E G 31| 0
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Q| No |fizi TOGO[PLAY PLAYERS Y| R No |fzi TOGO| PLAY PLAYERS Y—F| 1R

1] 1 |8 33| 3 |PASS| #* — - | x 118 38| 1 RUN [ /MR 50O

2 [ 1 6 | RUN [ % 1 X 2 |88 36| 17 [ PASS | I — — | %

2| 3 |B 43 3 |RUN|[ # 0 [ x 3 |8 25| 10 [ PASS | FiI — 4EH 5 | x

4 | 35 [ 8 |PASS| # — — | x 4 | 27| 7 | RUN | I 2 | x

5 |8 43| 7 | RUN [ /NgR 18] O

3 5|8 38 ( 2 |RUN| #E& 10| O 6 (B 31| 2 [ RUN | &E 5 O

6 (88 45 | 3 | RUN|[ # 3| O 7 (8 13| 7 [ RUN | #&E 2 | x

4l 7 (® 11| 2 [RUN| iBE 9 | O 8 |88 41| 4 | PASS | BT — -] x
8 B 35 | 10 |PASS| BA — LHF | 13| O

9 (88 33| 2 [ RUN | &EE 1 x

10 |83 22| 6 | PASS | FT — — | x

1118 17| 2 | RUN | #&H 1 x

12 |8 21| 10 | PASS | BT — — | INT

13 (88 29| 6 |PASS | % — #HFE | 7| O

14 |88 31| 15 | PASS | &t — - | %

15 |8 16| 7 | RUN | &% 2 | x

ma | s [mmm| 4 [mmw] so.ox ma | 15 | mom | 4 [mmm] 2em
AT TORIE RUREMCEsEHA
Q| No [fZ TOGO|PLAY PLAYERS Y—F| R No |fZ& TOGO| PLAY PLAYERS Y—K| #8
11 1 |8 10 5 |PASS F - S - X 1 |88 18 1 RUN =R 3 O
2| 2 |B| 35 8 |PASS| # — - | x 2|8 14| 5 RUN | %EH 710

ma | 2 [mmm| o [mmw] oo m | 2 [ mom [ 2 [mmw] 10006
&Al

Q| No [ TIME =A% r—F No | TIME RAI& r—K

2l 1 8:55 7 1 8:00 10

2 0:00 10 2 0:00 15

3 1:24 9

4 0:45 —

[E1% 2 17 B3 4 34
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Q | BRIARERR | RTER | RAERM | STL— Bitafi®E |JL—%| FD¥ | HTHEE #ER r—FK
1 ]11:50 9:52 1:58 KO BR - 43 5 2 B -0 ™D 43
6:39 5:39 1:00 PUNT B -26 4 0 B -33 PUNT 7
4:23 2:07 2:16 PUNT B -47 6 2 Bg - 10 4DOWN 43
2:02 1:31 0:31 INT Bg - 13 2 1 B -0 D 13
2 | 11:48 9:42 2:06 PUNT B -36 4 0 B -43 PUNT 7
3:29 0:56 2:33 FGNG B -20 9 3 BH - 35 4DOWN 45
0:30 0:00 0:30 PUNT B -33 5 2 By - 24 FG 43
3 110:21 6:00 4:21 PUNT B -28 10 5 B -0 D 72
4:26 1:32 2:54 PUNT H -30 8 3 B -0 D 70
4 |11:18 8:58 2:20 INT B3 - 30 6 2 By -0 TD 30
6:58 3:43 3:15 PUNT B -29 9 5 B -0 TD "
0:45 0:00 0:45 KO B -35 7 2 By - 38 END 27
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Q | BASKESRA | AR THER | RARM [ ATTL— FtafE |JFL—%| FO¥ | #RTHE R Y—k
1] 9:44 6:39 3:05 KO By - 29 7 1 By - 36 PUNT 7
5:39 4:23 1:16 PUNT By - 25 4 0 B - 30 PUNT 5
2:07 2:02 0:05 4ADOWN Bl - 10 1 0 B - 10 INT 0
1:26 0:00 -—=- KO B - 24 - - B - 29 - -
2 | 12:00 11:48 1:38 i B - 29 4 0 B - 29 PUNT 5
9:42 3:29 6:13 PUNT Bg - 33 14 4 B -1 FGNG 56
0:56 0:30 0:26 4DOWN BR - 35 4 0 B -4 PUNT 6
3 |12:00 10:21 1:39 KOTB Bg - 25 4 0 BH - 34 PUNT 9
5:55 4:26 1:29 KO Bg - 18 4 0 By - 22 PUNT 4
1:24 0:00 - KO B -9 - - By - 18 i -
4 |12:00 11:18 2:06 - By - 18 7 1 By - 21 INT 12
8:51 6:58 1:53 KO By - 25 7 1 By - 31 PUNT 6
3:33 0:45 2:48 KO By - 43 10 3 B -0 TD 57
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